10.2

1) g(a) = a3+ 5a?

3)

5)

f(a) =2a+4

gB)+1(3)

g(3) =33 +5(3)?

g(3) =27 +5(9)

g(3) =27 + 45

g(3) =72

f(3)=23)+4
f3)=6+4

£(3) =10

g3 +f(3)=72+10=82

g@ =3a+3

f(a) =2a—-2
(g+1)@)=g0)+f9)
99 =30)+3

g(9) =27 +3

g(9) =30

f(9) =20) -2

f(9) =18-2

£(9) =16

g(9) + £(9) =30 + 16 = 46
gx)=x+3

f(x) =—x+4
g-NB)=9B)—-f(3)
g(3)=3+3

g(8)=6

f(3) =—-3+4
f@3)=-1

9B +fB)=6-1=5

7)) glx)=x%+2

f(x) =2x+5

(g — 1)) = g(0) — f(0)
g(0) =02 +2
g(0)=0+2

g(0) =2
f(0)=2(0)+5
f(0)=0+5

f(0)=5

90— f(0)=2-5=-3

9) g&)=t-3

h(t) = =3t3 + 6t

g(1) + h(1)

g(1)=1-3

g(1) =-2

h(1) = =3(1)3 + 6(1)
h(1)=-3(1)+6
h(1)=-3+6

h(1) =3

g +h(1)=-2+3=1

11) h(t) =t +5

gt)=3t-5

(h-g)(5) =h(5)-g(5)
h(5)=5+5

h(5) =10

g(5)=3(5) -5
g(5)=15-5

g(5) =10

h(5)-g(5) =10-10 = 100



13) h(n) =2n-1

gn)=3n-5
h(0) + g(0)
h(0) =2(0) — 1
h(0)=0-1
h(0) = —1

g(0) =3(0) -5
g(0)=0-5
g(0) =-5

h(0) +g(0) = -1+ -5= —§

15) f(a) = —2a —4

g@=a*+3

7
DS
f()==-2(7)-4
() =-14—14
f(7) =-18
g(7) =743
g(7) =49 +3
g(7) =52
f0) _-18_ 9
g(7) 52 26

17) g(x) = —x3 -2
h(x) = 4x
(g —h)(x) =g(x) —h(x)
g(x) —h(x) = (—x* = 2) — (4x)
g) —h(x) =—x3—-2—4x

19) f(x) = —3x + 2
g(x) = x?+5x
f-—9) =flx) —gx)
f(x) = g(x) = (=3x +2) — (x* + 5x)
f(x)—g(x) =-3x+2—x%—5x
fx)—gx) =—x*—-8x+2

21) g(x) =4x +5
h(x) = x? + 5x
g(x) - h(x)
g(x) - h(x) = (4x 4+ 5)(x* + 5)
g(x) - h(x) = 4x3 + 20x? + 5x2 + 25x
g(x) - h(x) = 4x3 + 25x% + 25

23) f(x) = x? — 5x
glx)=x+5
f+9) =flx) +g(x)
f) +g(x) = (x* =5x) + (x +5)
f)+g(x)=x2—4x+5

25) g(n) =n?+5
f(n)=3n+5

g+ f(n) =?E—Z§

gn) _ n*+5
f(n) ~ 3n+5

27) g(a) = —2a+5

f(a) =3a+5
g —9@
(f) (a) - fla)
gla) _ —2a+5
f@ ~ 3a+5

29) h(n) = n® + 4n
gn)=4n+5
h(n) + g(n)
h(n) + g(n) = (n® + 4n) + (4n + 5)
h(n) + g(n) =n®+8n+5

31) g(n) =n* —4n
h(n)=n->5
g@n?®) - h(n?)
g(?) - h(n?) = [(n?)? — 4(nH)][(n?) —
5]
g(@m?) - h(n?) = (n* — 4n?)(n? - 5)
g(n?) - h(n?) = nb — 5n* — 4n* + 20n?
g(n?) - h(n?) = n® — 9n* + 20n?

33) f(x) =2x
gx)=-3x—-1
F+P4-x)=f(-4—-x)+g(—4—
x)
f(=4—x)+ g(=4—x) = [2(~4 — )] +
[-3(=4-x) —1]
f(4-x)+g(-4-x)=(-8-2x) +
(12 +3x—1)
f(=4—-x)+g(-4—x)=x+3



35) f(t) =t + 4t
gt) =4t +2
f(t?) + g(t?)
f@?) +g(t?) = [(t*) + 4] +
[4(t?) + 2]
f)+gt?) =t*+8t2+2

37) g(a) = a® + 2a
h(a) =3a+ 4

(=x)

(%) (—x) = i(—x)

g(=x) _ (=x)3+2(x) _ -x3-2x
h(-x)  3(x)+4  —3x+4

39) f(n) = -3n%2+1
gn)=2n+1

G-96)=1()-of2)
10)-0)-[56)+1]-
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41) f(x) = —4x +1
gx)=4x+3
(fe () = f(g(9)
g(9) =409) +3
g(9) =36+3
g(9) =39
£(39) = —4(39) + 1
£(39) = —156 + 1
f(39) = —155

43) h(a) =3a+3

gl@=a+1
(hog)(5) = h(g(5))
g()=5+1
g(5)=6

h(6) =3(6)+3
h(6) = 18 + 3

h(6) =21

45) g(x) =x+4
h(x) =x*-1
(g ° h)(10) = g(r(10))
h(10) =102 -1

h(10) = 100 — 1
h(10) = 99
g(99) = 99 + 4
g(99) = 103

47) f(n) = —4n+2

gn)=n+4
(fe9)9) = f(g(9)
g(9) =9+4

g(9) =13

£(13) = —4(13) + 2
£(13) = =52 + 2
£(13) = =50

49) g(x) =2x — 4
h(x) = 2x3 + 4x?
(g°h)(3) =g(h(3))
h(3) = 2(3%) + 4(3?)
h(3) = 2(27) + 4(9)
h(3) =54+ 36
h(3) =90
g(90) = 2(90) — 4
g(90) = 180 — 4
g(90) = 176



51) g(x) = x* — 5x

h(x) =4x+ 4

(goh)(x) = gh(x))

gldx +4) = (4x + 4)? — 5(4x + 4)
g(4x +4) = 16x% + 32x + 16 — 20x — 20
gldx +4) = 16x% + 12x — 4

53) f(a) = —2a+2

55)

g(a) =4a

(f e 9)(@) = f(g())
f(4a) = —2(4a) + 2
f(4a) = —8a+2

gx)=4x+4
flx)=x3-1

(g° N =g(f(x)
g3 -1 =4x3-1+4
gix3—1)=4x3-4+4
gx®—1) = 4x3

57) g(x) = —x+5
f(x) =2x—-3
(g° ) =g(f()
gR2x—-3)=—-2x—-3)+5
g@2x—-3)=-2x+3+5
g2x—3)=-2x+8

59) f(t) =4t+3
gt) =—-4t—-2
(feg)®) =f(g®)
f(—4t—2)=4(—4t—-2)+3
f(-4t—-2)=-16t—8+3
f(—4t—-2) =—-16t -5



